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 MARKING SCHEME

1.
Mention four adverse effects of inflation.





(4 marks)
i) Reduce in sales volume  of firms

ii) Decline in standard of living

iii) Retardation  of economic growth

iv) Loss  of confidence in the  monetary system  of an economy

v) Conflicts between employers and employees

vi) Wastage of time

vii) Adverse effect on the balance of payment

Any 4 x1=4 marks

2.
The following terms relate to communication: verbal, horizontal, formal and informal. Write  the appropriate  term of communication associated with each of the following.












(4 marks)

	Statement
	Term

	i)     Rumours going around that the most disciplined  

        will be promoted
	Informal

	ii)    A manager giving instructions to a supervisor in

        his division
	Vertical

	iii)   Prefects discussing discipline in their school
	Horizontal

	iv)    A manager issues a general circular to employees
	Formal 


3

KUWET TRADERS

CASH BOOK

	Date
	Particulars
	Disc. Allow.
	Cash
	Bank
	Date
	Particulars
	Disc. Rec.
	Cash 
	bank

	2009

Jan 1

”    18

”    30

	Balance b/d
Sales

Cash©

Balance b/d
	1,400(
_____

1,400
	36,000(
26,600(
______

62,600

10,400
	340,000(
52,200(
392,200

344,200
	2009

Jan 7
”    30

”    30

	Pemwai traders
Bank(C)

Balance c/d
	2,000(
____

2,000
	52,200(
10,400(
62,600
	48,000(
344,200(
392,200














10x ½ =5 marks

N/B
The date, particulars  must be marked accordingly. 




Check the discount column 




Check the amount of cash and bank on each side

4.
 In the table below are risks which are  either Insurable or uninsurable. Indicate  with a tick(() in the spaces provided to show whether  each is insurable or uninsurable.(3 marks)

	Risk
	Insurable
	Uninsurable

	Shop lifting
	(
	

	Floods
	
	(

	House fire
	(
	


5.
State four measures that the  government  in Kenya has put  in place to protect consumers from unscrupulous business  practice.






(4marks)
i) Setting standards through the Kenya Bureau of Standards

ii) Weights and measures Act

iii) Licensing

iv) Trade Description Act

v) Sale of Goods Act

vi) Price Control Act

vii) Public Health Act

6.
Differentiate between derived demand and joint  demand giving examples.

(3 marks)
Derived demand is where demand for  one commodity is due to the demand of another commodity  e.g hen and eggs  while joint demand is the demand  that arises from products which are used together to satisfy a want e.g toothpaste and tooth brush

3 marks  for correct comparison

N.B: The matching must be correct  for a student to earn all marks. No marks  to be awarded for incorrect comparison.
7.
In the table given below, give the appropriate  type  of advertising which suits the description.










(4marks)

	
Description
	Type of advertising

	i) Persuades the consumers to buy a product
	Competitive

	ii) Promotes a particular  brand of product
	Product

	iii) Creates awareness about a product
	Informative

	iv) Promotes the name of the manufacturer
	Institutional


 4 x1=4 marks

8.
State four characteristics of oligopoly market structure.



(4marks)
i) Made up of  few large firms

ii) Few firms are involved in rivalries with each firm looking over what the others a re doing

iii) There is  interdependence in relation to price output

iv) Can be a pure oligopoly where products of the firm are identical

Any 4 x1=4 marks

9.
Highlight four disadvantages of a long  channel of distribution of goods to a buyer.
(4marks)
i) Increases in prices of goods

ii) Perishable goods will go bad

iii) Chances of damage of goods is very high due to  handling

iv) There is high chances of delay in delivery of goods

v) Feedback to the producer is delayed or impossible

10.
State four reasons why consumers have to make a choice between competing needs.(4marks)
i) Limited resources

ii) Different  prices of goods

iii) Different  tastes, preferences or fashion 

iv) Government policy on consumption of goods

v) Unlimited wants to be satisfied

Any 4 x1=4 marks

11.
State four items that are found on the credit side of the  current account of a country

i) Receipts from the export of goods or visible exports

ii) Receipt  from export of services or invisible exports

iii) Receipt from investment abroad

iv) Deficit balance
12.
Identify four factors that influence the level of capital of a business enterprise.(4 marks)

i) Net profit /ploughed  back profits/dividents(
ii) Additional investment/new investment (
iii) Loss made(
iv) Drawings(
4x@ 1 mark=4 marks

13.
State four reasons why people engage in business activities.

(4 marks)

i) Creation of employment(for self/others)(
ii) Provision of goods/services(to others)(
iii) For profit generation/maximization(
iv) For prestige/enhance own image in society(
v) To acquire what they lack(
4x@ 1 mark=4 marks
14.
Highlight four factors that may be used to determine the size of a firm.
(4 marks)

i) Volume of output(
ii) Floor area covered/size of land occupied(
iii) Quantity of capital invested(
iv) Number of employees engaged(
v) Production methods/techniques/technology(
vi) Market size served(
vii) Volume of sales(
4x@ 1 mark=4 marks
15.
The central bank is a banker to the government. Outline four banking services it provides to the Kenya government.







(4 marks)

i) Giving financial advice to the government(
ii) Receiving payment on behalf of the government from  foreign donors/income tax depts./custom etc(
iii) Giving credit/loan to the government(
iv) Making various payments on behalf of the government(
v) Getting credit/loan from other sources on behalf of the government(
vi) Collecting credits/loans from other sources on government behalf(
4x@ 1 mark=4 marks

16.
For each of the following cases, name the motive for holding money.

(4 marks)

	
	CASE
	MOTIVE

	a)
	To meet daily bus fare expenses
	TRANSACTIONARY(

	b)
	To meet unexpected medical emergencies
	PRECAUTIONARY(

	c)
	To stock maize when prices fall
	SPECULATIVE(

	d)
	To meet daily food requirements
	TRANSACTIONARY(


17.
For each of the following transactions given below, indicate in the appropriate columns, the source documents and the book of original entry in which the transaction should be recorded.









(4 marks)

	
	Transaction
	Book of original entry
	Source document 

	a)
	Sale of tables on credit
	GENERAL JOURNAL(
	INVOICE ISSUED(

	b)
	Purchase of stock on credit
	PURCHASE JOURNAL(
	INVOICE RECEIVED(

	c)
	Goods returned by a customer
	SALES RETURNSJOURNAL(
	CREDIT NOTE RECEIVED(

	d)
	Payment to a creditor
	CASHBOOK/CASH PAYMENT JOURNAL(
	RECEIPT/CASH SALE SLIPS(




4x@ 1 mark=4 marks

18.


BUTEBA TRADERS

BALANCE SHEET

AS AT 31ST DECEMBER 2018
	                               Sh.

Machinery                    20,000(
Debtors                          2,000(
Stock                              1,500(
Cash                               4,000(
                                      27,500 (

	                          Sh.

Capital                       24,000(
Liabilities                    3,500((
                                 ______

                                  27,500




8x@  ½  mark=4 marks

19.
Highlight four circumstances under which a country may be classified as underdeveloped














(4 marks)

i) When the rate of unemployment is high(
ii) When there is high population growth/mortality rates(
iii) When the standard of living of citizens is low(
iv) When productivity in a country is low(
v) When the country has a high dependency ratio(
vi) When there is inefficient /traditional technology(
vii) When the country has a large subsistence/direct economy(
4x@ 1 mark=4 marks

20.
State  four benefits that consumers get from small scale retailers.

(4 marks)

i) Free advice on product use/comparison/availability etc(
ii) Personal attention(
iii) Stable prices(
iv) Steady supply of goods

v) Credit facilities(
vi) Place utility i.e goods are bought nearer(
vii) Small quantities( break bulk)(






4x@ 1 mark=4 marks
  21                                                           

                                                              OKAME TRADERS

TRADING ACCOUNT



DR.


FOR THE YEAR ENDED 30-6-2018
CR

    
	                                                  Sh.

Opening stock                       8,000(
Add purchases                     53,000(
Less returns outwards            2,700(
COGAFS                             58,300

Less closing stock                12,700(
Cost of goods sold(COGS)  45,600

Gross profit                          17,300((
                                             62,900


	                                             Sh.

Sales                                 62,900(
                                         ______

                                          62,900



8x@  ½  mark=4 marks

22.
Give four features that  differentiate a public corporation from a public limited company.
(4 marks)
	Public corporation
	Public limited company

	i) Formed under Act of Parliament

ii) Fully owned by the government

iii) Initial capital is by the government

iv) Management/ board appointed by government/president

v) Set up to offer essential services

vi) Profits are earned by the government

vii) Financial statements presented to parliament
	i) Formed under Company’s Act

ii) Owned by private people with shares

iii) Initial capital through share issue/dobent

iv) Management/Board elected by shareholders

v) Set up to make profit

vi) Profits shared by share holdersas dividends

vii) Financial statements presented in press


23.
Characteristics of a good tax system






(4mks)


 (i)
Equitable

 
(ii)
Certain


(iii)
Convenient

 
(iv)
Economical

 
(v)
 Flexible

 
(vi)
Ability to pay 


(vii)
Diversified


(viii)
 Simplicity

24.
 Four advantages of a landscape office layout





(4mks) 


(i)
 Promotes team work among employees


(ii)
Promotes sharing of office equipment


(iii)
 Supervision of workers


(iv)
 Maintenance cost is low

 
(v)
Easy location of workers


(vi)
Discourage absenteeism
( vii)
Decoration found in the office creates an attractive and conducive 



environment to work in.
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	Item                                                  Dr                                   Cr

Capital                                                                                         22,000(
Cash                                                  5,000(                                                                          

Creditors                                                                                        3,000(
Drawings                                           4,000(
Debtors                                               2,000(
 Purchases                                             7,000(
     Stock                                               6,000(
Return Inwards                                      1,000(
                                                                25,000                                  25,000

                                                                                                                                     8x  ½ =4mks




